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1. You should not ....ccceeeeencvennans the “’OrSt

(A) hasSimed

(C). assume

(B) assuming

(D) assumes

2. The teacher said, ‘Be hone,stf’ .(Direct fo Indirect speech).
(A) The teacher ordered me to be  S—
(B) The teacher advised me t, be honest.
(C)  The teacher said f;O be hoheét.
(D) '.The teacher asked to be honest,
3. . “The police érrestea the thief.” (Active to Passive voice)
(A) .The thief is arrested by the policé,
-(B) The thief Ahas been .arrested by the police.
(C). The thief was arrested by the police.
(D) | The thief will.be arreéted by the poliéeL
4. Find .the incorrect sentence :
(A) The sun rises in the east.
(B) She goes to school everyday.

(C) They are go to the market now.

(D) We have completed our homework.

\B.C. : RT/CP/I/2025—A



o Heis ... best Player in our teq

(A) a (B) an

(C) the | (D) no article
6. She has only a.....coweeeeee time left hefore the exarm.

(A) many (B) little

(C) few (D) more
7. This Book is mine, but that one is .. ... ...coovme ¢

" (A) her (B) she
(C) theirs | (D) they

8. By the next month, we shall .......cceeeeneen.

(A) has completed

(C) completed

9 She said, “Do you like ice cream ?” (

' (A) ghe said if I like ice cream,

(B) She asked if T likeq jce cream.
() She asked that T [jqq ice cre
(D) She asteed if 1 Jj, ice creams,

TBC: RT/CP//2025—

the project.
(B) completing
(D) have completed

Direct tp Indireét_ speech)
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» pre . h
0. He said, “May God bless you I” (Direct to Indirect speech)

(A) He prayed that God might bless me.
(B) He said that God may bless me.

(C) He told that God will bless me.
(D) He wished that God could bléss me.

"~ 11. “Open the door!” (Active to Passive voice)

L

(A) The door is opened.

(B) Let the door be opened.
"(C) The door was opened.

(D) The door has been opened.

19.  “She must complete this work by Monday.” (Active to Passive voice)

(A) This work must be completed by her by Monday.
(B) This work should be completed by her by Monday.

(C) This work will be completed by her by Monday.

(D) This work has to be completed by her by Monday.

3.C. : RT/CP/I/2025—A 4
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15. Identify the incorl‘ect sentence,

(A4)  we are listenit® R mu_sm,
B They Was‘going to school.
(©) She has completed her work.

D) He s learning French.

.14. Would yoy like ......coowmreeees sugar in your tea ?
| (A)  some | | .;(B)- any
(C) much | | ®») few
15. - They ............ | vrereena a new car last week.
(A) buy ‘- | (B) buys
(C) bought | ' (D) buyiﬁg |
16. ’I"his IS AN wevererereennnnnnnn, book.
(A) interesting (I%) qﬁickly
(C) sadly D) slowly

T B.C. : RT/CPU2025—A



¢ one to complete the following
c

17. " From the choices given below, pick out the corre
sentence :
We would like to inform YOU ...ccccvenieninnnans .
(A) that you have been selected for the job.

(B) that you will have been selected for the job- X

(C) that you had been selected for the job.

(D) that you are beeﬁ selected for the jobr

18. Pick out the rightly spelt word :

(A) Allowence (B) Accuracy

(C) Occurrance (D) Commitee

19. Pick out the.correct sentence "among the following

(A) I have lived here for ten years.

(B) I have been living here since ten years..,
(C) I am living here since 2014. x
(D) I am living here for ten years.

20. Fill in the blank in the given sentence :

‘Rising prices are ................. universal phenomenon.
(A) an ' (B) the
(C) a | : (D) None of these

3.C. : RT/CP/I/2025—A 6
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23. ﬁqugm-mélsﬂamﬁg@?m.%—

(A) ST ® W

o~

(IR D) wEE E
24. @@qéﬂmmﬁmmmwi.r = _ .

(A) froemeds fom - 4

(C) TS

(D) TEYSTFH

25. mmﬁﬁgwwmmqﬁw%?

(A) THS N
(C) R |
D) siwg
T.B.C. : RT/CP/I/2025—4 7



26,

27.

28.

29.

30.

e

¥ W g wen-gE TN 5y e § gl A € -
(A) e (B) @
(@) FE-g D) wEa

Wl = W e g

| (A) .Iﬂ%rai | ; | (B) =R

© e - (D) wErR

e faeim gfm -

(8) sTdEr — am : - ® w — @

(C) I — i o .(D)' mifgy — amﬁér

I, e, N HT el v SaEd —

@) el . ® e

© = - ® =
‘ﬁxm%’aﬁ?ﬁaﬁqﬁrmmﬁ%?

(A) ﬁmﬁwl . (B) omHw T

(C) Tww fw | D AR

B.C. : RT/CP//2025—A -8



5.

o TR B W aref gfr —
R =g @ HET
© | ) @i
aﬂ?qﬁsftm
(D) o @ R

(A) =&
(B) TR
(C) = (D) o
‘Hie! %1 Tl s gAY —
(A) TEH (B) W
(C) a&E (D) oS
| | BRF, Fd, ¥ D HRU YRaG T A T, I M FEd § 2
(A) fagraa (B) wu ™ | :
() TR T (D) 3=
T/CP/I/2025—A 9 |
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3. fodt # et =R E 2

(A) 9 ® T
‘@ g (D) 1‘}

| A) | ..(B). o
(C) =W (D) 9= -

38. ‘®R "M &N’ & fau HIEl qEa FIH & ?

A) T T (B) st Hel

(D) WM W T

© T T
30.) Pt 4 & for ST —

@) T B) I

(C) T (D) WY
s0. F-et v TR A E
(A) Sfraras | | (B) MEaES
| (€) T - (D) HrEsTH

T.B.C. : RT/CP/U2025—A 10



41.

42.

- (C) 85

m is 105 cm? 5pq its height is 7 ¢ If one of the paraljy]

- Frapet allel sid
€s

longgy. than the other by g ¢m, then the sum™ of the par

@r@aﬁﬁ;’“@aﬁl%cm%wmmnmglaﬁm“ﬁaﬁﬁ
(A mmﬂ'ﬁl@6cmﬁa‘}%’mmgﬁmﬂwmﬂﬁm?
) 25

: (B) 30
© 35 |

o (D) 40 .
o€ cubic metre of jce weighs 720 kg, then the weight of a cuboidal block

of ice 50 Cm in length is :

(A)
K (B) 80

™ 90
qﬁwmlﬂaaﬁ?ﬂW720kg%,ﬂ?50cm?fﬁl§3|ﬁﬂq§$mﬂﬁ"mm

(A 75 (B) 80
©) 85 | D) 90

M shopkeeper allows a discount of 10% to its customers and still gains 20%

T.B.

on a product. If the cost price of the product is Rs. 450, then the marked

price is :
(A) 500 (B) 540
(C) 600 (D) 640

e THAGR S TEH F 10% Hi g 3 ¥ A R A TH S W 20% A
%1 A e W OwA T 450 7§, A A 7 T

(A) 500 . (B) 540
(c) 600 (D) 640
CWV: RT/CP/I/2025;—A 11



The mean of @, b, ¢, d and e is 28. If the xhean of @ € and e is 24, then mean

44,
of b and d is : '
| @ 31 ®) 32
() 33 D) 34

a, b, c,'d 3 e ¥ Mg 28 1 AR q, ¢ iy , o A 24 T, @ b IR dF WA

FM R ?
@A) 31 (B) 32
) 33 (D) 34

" 45. /In a cricket match, a batsman hits a boundary 8 times out of 42 balls he played.

The probability that he did not hit a boundary is :

4 7

(A) o1 . | (B) - o1

: 12 . | 17
(C) o1 _ (D) o1

.@ﬁzﬁaﬁ,@aﬁﬁﬁa%mﬁﬁﬁﬁsmﬁmmjwm/ﬁém
% foF 9 d A9 AW, © ¢

4 , 7
(A) o1 (B) o1
12 17
(C) o1 (D) o1

3. . RT/CP/I/2025—A 12



47.

B.C. : RT/CPU2025—A . 13

: The arithmetic mean and mode of a data are 24 and 12 respectively, thep its

median is:
(A4) 18 (B) 20

| ‘g.a Rl aﬁthmetic me;in 3R mode 24 AR 12 %,?h 39hl median 7 % )

(A) 18 (B 20

©€) 22 D %

Ina buys a fish from a shop for her aquarium. The shopkeeper takes out one

- fish at random from a tank containing'5 male fish and 7 female fish. The prob'ability'

that the fish taken out is a female fish is :

2 "5
(A‘)' 12 (]?) '13
6 : 7
(o)} 12 | (D) i) ;

T o1 TFaREH % fat T gPH § TF wedl @led §1 qEMER 5 T nefadl sk
7%#@&@3@@%#%@@@%%@%1%@@@
& TR A8t 8 Sl GYET § :

2 5
(A) 12 (B) 12

6 7
(®) 12 '(D) D

P.T.O.



@ If two acute angles of a right-angled triangle ar® equal, then each acute.

angle is :
(A) 30° (B) 45°
(C) 60° (D) 90°
afe et W e @ @ A W A &, @ FOF 1 P A
(A) 30° (B) 45°
(D) 90°

(C) 60°
A bus travels first 100 km at a speed of 100 km/h. It covers next 150 km at

a speed of 90 km/h. The average speed of the bus is :
AL Y3.75 . ® 11325

(©) 115.50 o 177 |
T T T 100 F F 100 Py 7 ofg 3 A §1 7€ P 150 Feed
H A= 90 frell/dier =+ iy F FAt ¥ ww F odww w0 w0 F 2 |

(A) 93.75 ' (3) 113.25

(C) 115.50 D) . 117.75

—ai P
59./ The number 0.00273 in the form ;, where p and ¢ are integers, and

g#0, is :
261 271
(A) 99000 (B) 99000
281 291
©) 59000 D) 59000

p - .\. . —_a A o d > A
% w9 H &I (0.00273 § @l p 3R ¢ [F T, W g=0 TR ?

9261 971
A 99000 B 59000
281 291
© 35000 D) 39000

[ B.C. : RT/CP/2025—A - 14



5. ;
y/ln decimg] form, 69 gquals

16 |
(B) 4 0gos (B) 4.0725

©). 40655 D) 40175 -

W-Fﬁﬁg—zmm%‘

(4) 4.0625 (B) 4.0725
(C) 4.0655 (D) 4.0175
- 52. The Sum of length, breadth and ‘height of a-cu,boid_ is 20 cm and the ledgdh’
of its diagong] i 10 cm. The surface area of the cuboid is :
. (A) 98¢ | (B) 300
(C) .‘320 o . v(\D) 340. |
_@W”'ﬁm,m'mﬁémmmm%mmmaﬁm
lo.ﬁﬁ%lwwﬁq@aaﬁm%; .
(A) 280 ' (B) 300
(C 320 (D) 340
. A rectangular sheet of paper 88 cm (length) and 28 ¢m (breadth) is rolled along
‘ its length and a cylinder is formed. The radius of the cylinder is -
(A) 11 B) 14 |
(C) 16 AD) 22
88 Tl (viad) iR 28 Wh (Shew) Tk ww SRR F191 1 We 9 7o) o
%Wmm%aﬂt@mmmwﬁ%lmﬁﬁm%
(A) 11 (B) 14
(C) 16 D) 22
T.BC. : RICPI2025—A 15
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: ] . . stomers and still gains 109,
54. A shopkeeper allows a discount of 20% to its ¢U

, . R he e ar
on a product. If the cost price of the product 18 Rs. 500, then the markeqd

rice IS
6535 | (B) 685.5

687.5 : (D) 689.5

@Wﬂmﬂﬁaﬁaﬁ%%aﬁz&zﬁ%aﬁ;m‘aﬂ@mﬁmm%zﬁrwq
SHA ¥ A IR H G G 500 T ¥, @ SifFd A T s

(A) 683.5 (B) 685.5
(C) 687.5 (D) 689.5

55.  If'the difference of mode and median of a data is 24, then the difference of median

and mean is :
4) 8 | B) 12
() 24 (D) 36

gfe fedl 221 & dea® IR Wi & R 24 T, @ mWime ok Wer w7 omR

FE ?
(4) 8 (B) 12
© 2N ). D 86

16



An sxterior angle of a triangle 15 equal to 100° and two interior opposite ang
8 Qg

are equal. Then, each of these angles is equal to :
(A) 40° . . (B) 50°
(C) T75° (D) 80°

mﬁﬁﬁm@a@mwm%w%amamwwm%ﬁ
ﬁﬁ@mﬁmw%f |

(A) 40° (B) 50°
(C) T75° : . ‘ ) 80°
The rational number between /2 and J§ is :

(A) 15 ' (B) 1.8

V2 +43 J2%/3
2 D) 2

(C)

J2 ﬁ?ﬁlﬁﬁﬁﬂqﬁ'ﬁqﬁ@T%:
(A) 15 ‘ (B) 1.8

NG o 2x

©) 2 : 9

2
The value of 325 is :

(A) 4 : (B) 6

(C) 8 (D) 16
2

395 H UM T

(A) 4 | B) 6

(C) 8 D) 16



et

5. T ) .
/ihe curved surface area of a right circular cone whose slant height is 10 cm

o
A7 :
and base is 7 cm is :

(A) 220 cm? (B) 240 cm?

2
(C) 260 cm? (D) 280 cm

10%%%3@%7%@%%1@@@”@“% S

E}WT g
(A) 220 ¥H2 ®) 240 &
(C) 260 T2 (D) 280 TH2
60/ The decimal form of 4= is :
0 2 is
(A) 4.115 (B) 4.125
(C) 4.135 : (D) 4.145
1 . .
45 @l WRT ®9 §
(A) 4115 (B) 4.125
(C) 4.135
BN D) 4.145

18



61. Find the-
he Wrong number in the series :

3,
0 8,15, 94, 34, 48, 63

(B) 24
(C) 34 (D) 63
AR e g
3, 8, 15, 24, 34, 48, 63
N |
8 (B) 24
©) 34. | (D) 63

62. 1 : i '-
n the given series of letters, how many T’s are preceded and followed

by T ?
PTPTTPPTPTPPPTTPTPTTPPPT

(A) Nil (B) One

(C) Two | (D) Three

d R o H JE HfEH TS T R e T E ?

PTPTTPPTPTPPPTTPTPTTPPPT

(A) A (B) TH
© = ®
TB.C. : RI/CP//2025—A 1

P.T.



63.

3 nce ?
Which of the images A to D is next in the seque

%

%A\ \

N

N

(®))

I'.B.C. : RT/CP/I/2025—A - 20



64. An g
Qquarj . .
Mum containg 17 go]dﬁSh' All but eight died. How many goldfish 15 the

(A) o " &
) 8

(C 9
‘ D) 17

65. Pointin ' '
g towards a boy, Mina said, “He is the son of only son of my grandfather”

How is the boy related to Mina ?

A ' I
C - i
( ) COUSln (D) None Of these

@asfq%aﬁWmm@m%w,“%ﬁm%w_ﬁaﬁmﬁa%”l'

wgeR | | fFg YER gEf@ § 2
(A) =T (B) g
(C) =0 (D) T ¥ = &

T.B.C. : RT/CP/U2025—A 0 Al
-~ PTO.



66.

67.

déy after
' : he |
if today is Wednesday, then what will be t
Voo ’ day
Thuls
(A) Wednesday (B)
(®) Friday (D) Saturday
7
| .
A o guEr 3, @ 56 & a1 HrE 6T
‘ (B) T
(A) FYaR
JhAR (D). TR
(C) | | ?
How many cubes are there in the given figure€ ‘
ow
6 (B) 8
(A)
(D) 12
(C) 10

& T emgfa & fead W€ 2

QX (B) 8
10 D) 12

T.B.C. : RT/CP/1/2025—A 22

56 days ?



68.

€9.

70.

A . . ife. HOW is A
rellntrod“%d B of the only brother of his father’s wife
ateq ¢, . as the son
(A) '
Cousm (B) Son
(C)
Bl‘other (D) Uncle
A 3R ' | A Sl B
= o B ey @ g T A
(A)
T g B) T
(C) ;
R (D) ==

Select
the related worq from the given alternatives :

Teacher (B) School

(D) Tuition

(A) IS (B) d

(C) fo=nef D) =RH

In a certain code language, “TTRED” is written as “56” and “BRAIN” is written
as “44”. How is “LAZY” written in that code language ?

(A) 43 (B) 58
(C) 61 (D) 64

frdr fafrgg e v 1 “TIRED” ?ﬁai. “56” feren St ¥ 3 “BRAIN” = “44” fe@r
STl ¥ OIEH @S a i “LAZY” @ SR feran sm 2

(A) 43 (B) 58

(C) 61 (D) 64

23



71.

73.

(A) Daniel Gabriel Fahrenheit

" (A) Mumbai

Who has invented the Mercury Thermometer ?

“(B) Marie Curie

(C) Sir Isaac Newton (D) Pierre Curie

Mercury Thermometer 'ch'f afassR fram fodl € 7
@) FFd

D) - frR =4
he first National Institute of Desigqs

(A) sfEa e weeEe

(C) W =& A

Identify from the following cities, where was t
established in India ?
(B) Ahmedabad

(C) Bengaluru (D) Kolkata

g 9Ra @ TR 4 yog U TeuRa dem wnfya fem =, Sget tgem Fefafaa
ﬁaﬁm e

(A) ﬁai | (B) STEHRER
©) FTgE (D) HEEHE
The headquartérs of NATO_is in :

(A) . Berlin (B) Paris
(C) Athens (D) Brussels

T (NATO) &1 qeuerd el ¥ ?
(A) =R | (B) ™
(C) urH D) e

24



“ Iden ‘ llowing :
tify the Author of pook «gulut Desh ki Kahani’s from the follo
. 0 [0]0) ;S
(A) )
al Chand Prarthi (B) Vidya Stokes
(C .
) Sunj) Dutt Gautam ) (D) Shapta Kumat

T W % ey s o F g P 8 T
SV - ® fm @
© T < i D) v T
75. Identify the date of International Yoga Day :
(A) July, 10 (B) June, 21
(C) July, 25 : - D -Jum'a, 15
i A e e F
(A) 10 gars | (B) 21 [
(C) 25 eTs (lj) 15 54
76.  What does the abbreviation IMF stand fm“ ?
(A) International Money Fund  (B) Indian Monetary Fund
(C) Irani Military Force (D) International Monetary Fund
IMI &1 quf &9 § ?
(A) International Money Fund (B) Indian Monetary Fund

(€)  Irani Military Force (D) International Monetary Fund

T.B.C. : RT/CP/1/2025—A | 25 - p.1



77.  In which following district of Himachal Pradesh, the Kumarwah lake is

located ?
(A) Mandi (B) Chamba
(©) Kullu (D) Kangra

e W B e FefRen @ 8 e @ fer & 2

(A) et (B) =l

}@ Which following pass of Himachal Pradesh is located at the highest altitude ?

(A) Talang ) Singoor

(C) Waru (D) Kugti

e v S e o R o S W 2
(A) @@ (B) f&R

C) @& (D) =

79.  Identify from the following months when the Minjar Fair is held in Himachal

Pradesh ?
(A) June | (B) August
(C) dJuly ' (D) September

ferrer gev 4 Frafafea frw w63 SR @& dey g ¥ 2

(A) <[ (B) 3rrg
(C) ¥ (D) fagay

26



80,

81.

(B)

i ' ian Pen
WhICh of the follows: has peent 1ntr0duCed to replace the IPC (India al
Ollowing ;

Code) 9

BNss (Bhartiya Na garik Suraksha Sanphita)

(C) BSA (Bhartiya Sakshya Adhiniyam)

(D) . Bsy (Bhartiya Suraksha Niyam)
TR A o o 3 e T B (omdian) A AR Y 2
(A) RIAtGR (MR =g @fed)

®) Awiwmmn. (e e g

(© HRwwn (e e st

(D) MTET. (Rdrr gran )

Which of the following countries emerged winner of the Men’s Hockey Asian

Championship Trophy-2024 2

(A) China (B) India

(C) Japan (D) South Korea

Fe & & e 3w oReR Tew dE SfRfi-2024’ W Ree @ 2
(A) =1 (B) R4 |

(C) <M (D) <& smifen

97 P



82.

83.

84.

: imachal Pradesh i -
Which of the following is the largest river of gimachal Pradesh in terms of wag,,

volume ?
(A) Beas (B) Chenab
(C) Sutlej o) Ravi

. 9
Where is the headquarters of ‘UNESCO’ ,51tuated !

(A) Geneva (B) New Delhi

(C) Paris (D) Berlin
‘e w1 geged se W fem w2
(A) SPT

(C) IRH (D) =

Vande-Matram’ is part of which of the following books ?

(A) Geetanjali (B) Anandmath

(C) Bhagwat Geeta (D) Bharat Bharti

‘92 gy e 4@ few gwe W femwm w2

(A)  Tiarifa B)  3F=ys
(C) TrmEd T D) IR e
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85.

86.

87.

Who 4 ) d-2023 ?
Mongst 4 following P2° been awardeq the Jnanpith AwWar

A) ‘
( ) Rambhadracharya (B) Gaurav Pandey

(D) Nandini Sen Gupta

ﬁ‘:ffﬁf@aﬁﬁmwﬂaw—m%ﬁmﬁamw ?
(A W B e R

©) % g D) e & T

1 ' P itecture an
The capjtq) of Uniteq Arab Emirates, known for its futuristic architec d
Ry Shopping i . '

(A) Al Ain (B) Abu Dhabi

(C) Dubgj (D) Sharjah

T IR B T e SO ferg ws I SR STHE B T
BT ¥ 2

(A) 3 W (B) a7 el
©) =8 (D) IRSTE
The ‘Best State in Horticulture 2024’ was conferred on to which of the following

states in the Agriculture Leadership Award-2024 ?

(A/) Nagaland (B) Himachal Pradesh

(C) Maharashtra (D) Jammu & Kashmir

T et R 2024 § 1 H ¥ few Tsa 9 arart § geis qea-2004
TR ¥ &ha fmar mn 2

(A) AMRIvE (B) fea=w wew
(C) wBreg | (D) - S 3R IR
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88.  Which of the following is the largest Monastery in Spiti 7

(A) ‘Tabo (B) Lha Kun

(C) Gemur ) Kee
ﬁqﬁ@éﬁﬁmmﬁnﬁrmﬁa@rﬁ% ?

(A) dr=n (B) @ BT

(C) R » (D) F

In which of the following districts of [LP. a ‘Centre of Excellence’ is going to

@ be established under Rashttiya Golkul Mission ?

(A) Kangra (B) Sirmaur

(C) Bilaspur (D) Una
W,W?ﬁﬂﬁ@mﬁéﬁ‘@ﬂﬁﬁﬁﬁm’a?m o TR 9y
wnfyq fear ST § 2
(4) FITET B) fawit
(C) T (D) T

@ Netaji Subhash Chandra National Institute of Sports is located in which of the

following places ?

(A) Kolkata (B) Patiala

(C) Bengaluru (D) Ahmedabad

e g s T ge g fE A 9 few wm W fem ¥ 2

(A) HicTehrar (B) ufeqre
©) e (D) SEEER
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